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P=100kN

Py

P =P xcos45" =100kN x cos45" = 70.7kN
P = P xsin45" =100kN x sin45° = 70.7kN

P_=-P xcos60° = 50kN x cos60” = -25kN
P, = P xsin60" = 50kN x sin60" = 43.3kN

P =P xcos30° = 40kN x cos30° = 34.6kN
P, =-Px sin30° = 40kN x sin30° = -20kN
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R P.=50kN
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P2:60kN

P, =P, xcos30° =50kN x cos30° = 43.3kN
P, = P, xsin30" = 50kN x sin30° = 25kN

SH =P, - P, = 43 3kN - 60kN = -16.7kN
SV =P, =25kN

S HOEE LY
R=A(ZH)’ +(ZV)> =~/(=16.7)* + (25)* = 30.1kN

0= tan‘l(z—;) = tan‘l(%) =-56.3°
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Pi=50kN
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P, =P, xco0s30° = 50kN x cos30" = 43.3kN
P, = P, xsin30" = 50kN xsin30° = 25kN

SH = P, =433kN

P-=60kN
v

(3)
P-=60kN

SV = P, - P, = 25kN - 60kN = —35kN
SPHOER LY
R=+/(ZH)’ + (SV)? =~/(43.3)* + (-25)* = 55.7TkN

0= tan"(%) an"( 35

m) =-38.9"
P, = P, xcos30° =50kN x cos30° = 43.3kN
P, =-P, xsin30° = =50kN x sin30° = -25kN
P, =-P, xcos60" = -60kN x cos60" = -30kN
P, =P, xsin60" = 60kN x sin60" = 52kN
3H =P, -P, =433kN -30kN =13.3kN
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(1)

P 2=60kN

<

SV =P, + P,, = -25kN + 52kN = 27kN
S HOEE LY
R=+/(ZH)’ +(ZV)* =~/13.3)> + (27)> = 30.1kN

0= tan‘l(i—;) tan"l(ﬂ) =63.8°
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Pi=50kN P,

P,

P,cos30°=43.3kN
-P2:-60kN
0

P,sin30°=25kN

0
30°

0=41.9°
R

Ps=40kN
v

P 3 -P3 :-40kN

p2 H=-16.7kN
S OEHLIY

R=~(SH)* +(ZV)? =~/(-16.7)* + (-15)* =22 4kN

0 =tan™ 2V an™ _—15)=41.9°
>H -16.7

V=-15kN




R1 4 FHES )+ Y By - TH A 201945 H 27 H
(2)

y
H v
- P, P,=50kN 0
P=60kN R P, | -P,cos60°=-30kN | P,sin60°=52kN
A ——
60° _ P, | -P1cos60°=-20kN |-P;5in60°=-34.6kN
P=50kN 5 H=0kN V=17.4kN
60° SR OEE LY
R=A(ZH)’ +(ZV)* =~/(0) + (17.4)* =17 4kN
sV 17.4
P-—40kN R (_) R ( ) _ o0
6 = tan o tan 0 90
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P, P, P

X

sin30°  sinl5°  sinl35°

P, = _P x sin30° = —
¥ sinl35° sin135°

xsin30° = 35.4kN

P, =— P xsinl5’ =

o . o

xsinl5° =18.3kN
sin135 sin135
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Pyv P, P
sin30°  sinl05° sin45°

P . .
P, =——xsin30" = ——
sin45 sin45

> P, = P xsinl05° =

. o . o

sin45 sin45

x sin30° = 35.5kN

x 8in105° = 68.3kN



